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2023
COMMERCE
(Honours Core/Regular)

Paper : COM-HC- 3026/COM-RC-3026
{Income Tax Law and Practice)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the guestions.

Answer either in English or in Assamese.
1. Answer the following questions as directed :
1x7=7
were Al e RotigeE Beg fom ¢

(a) The present Income Tax Act came into
force from the year

(Fill 'in the blank}

T ST S22 5o o131 BT
[eital (3T} 912 99 7)
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(b) The term “Salary” has been defined as

(c)

(d)

(e)

per section ___ of the Income Tax Act.
(Fill in the blank)

TR T G e T 4919

ST | (JIT] 912 99 F)

The maximum deductions from gross
total income of an individual as per
section 80C of the Income Tax Act, 1961,
is Rs SUlia (Fill in the blank)

G JfET TS T 21 ST Size" 80C
LIRS SIS FAE(H Fo9 2AfFwid l

(et 212 23 1)

Previous year has been defined under

section ____ of the Income Tax Act, 1961.

(Fill in the blank)
IEEE A IETE B o R e e e
il 2z (3T 31% 97 1)

An Indian citizen is always considered
as “resident and ordinarily resident in

India”. (Statement is true or false)
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T SIS FIfTET T A S A
i 3 S T |

(Cfeeh! &% (7 ST3% GeEvdl 391)

() Income Tax is charged by the Central

Government. (Statement is true or false)

ST (U HIPIE ATAST TS |
(Sf&h) v @ o GEs 341)

(g) Rate of Statutory deduction in case of
Income from house property is
(Fill in the blank)

g ol ot R o gR T |
(4T 212 99 1)

2. Answer the following questions : 2x4=8

woTe A 2R O fordll ¢

(@) When an individual is considered “Non-

resident in India” for Income Tax

purposes ?
e GTwF TS S (ol CINeT
R 3 sfReifde T e
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(b) Write the meaning of “Total Income” as
per Income Tax Act.

Wwwlww‘am{%ﬂn

(c) Explain the meaning of Long term
Capital Gain. i

VTSI S[ETae Sz i 3 3 |

(d) Define “Assessee” as per Income Tax Act,
1961.

IS 2E 1961 SgAR I[N i3 Fewwt
ferat |

3. Answer any three of the following questions :
9%x3=15

Rireizan fofao! e Tes forat ¢
(a) Briefly explain various heads of income.
e Rfen FemER st = = |

(b) Mr. K is the owner of a house property
which is let-out by him at a monthly rent
of Rs.3,200 p.m. The following
particulars of the house are given below :
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Mr. K o1 951 3feie {06! Fezee 3,200 5hies
orel fafee | ToR o Rz s

() Municipal Valuation (MV)
' Rs. 30,000 p.a.
(N3 e 30,000 p.a.
(i) Fair Rent (FR) Rs. 45,000 p.a.
1T ©ITl 45,000 p.a.
(i) Standard Rent Rs. 40,000 p.a.
" et 40,000 p.a.

(iv) Municipal Taxes paid during the
previous year Rs. 3,000.

(sTiea SmTE 248! 33© 3,000

(v) Fire insurance premium paid
Rs. 600 p.a.

- 3 S 600 p.a.

Determine his Income from House
Property for the assessment year

2023-24.

2023-24 9 a7 AR Jz-rifes sy
Rste 90|
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Given, fraifes,

Compute his income from salary for the Previousyear  Cost Inflation Index (CII)
relevant assessment year.

7 P ; 5

RIS WIS 39 AR (06T R of1 ([T (8 ) (7% TEIfS i)
o efa = | 2004-05 113
| 2008-09 137
il 2022-23 331

Mr. Bora had purchased a residential

house property on 16.06.2004 for
Rs.2,20,000. He had spent Rs.1,50,000

on improvement of the house during the P
year 2008-09. On 04.10.2022, he sold

the house for Rs.21,50,000 (Stamp Duty

Value RS.20,40,000). His expenses on 1
transfer amounted to Rs.36,000.

Compute the ‘Capital Gains’ for the
Assessment Year 2023-24.

fil. 331 16.06.2004 wifivs 2,20,000 T
TIS U1 N sjzorsife @y wRifze |
2008-09 5% O& S-I1H B e iz (9@
1,50,000 51 %9235 1 04. 10,2022 wIRE
58 ©F SRFII 21,50,000 St was F)
et I R OiRe Best o T iifeE

20,40,000 b= | 12051 Zaa qiam (a7 <72
2f2# 36,000 B3|
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